

OFFICE OF THE
LOGAN COUNTY ENGINEER
P.O. BOX 427
1991 COUNTY ROAD 13
BELLEFONTAINE, OH 43311
www.lceo.us

Received
AUG 20 2025
Logan County
Commissioners

SCOTT C. COLEMAN, P.E., P.S.
LOGAN COUNTY ENGINEER

Telephone: (937) 592-2791
Fax: (937) 599-2658

August 20, 2025

The Honorable Board of
Logan County Commissioners
117 E. Columbus Avenue, Suite 100
Bellefontaine, OH 43311

APPROVED BY THE BOARD OF
LOGAN COUNTY COMMISSIONERS
MOTION my
2ND CF
PER RESOLUTION # 177-25
DATED 8/21/25

Re: **2025 OPWC County Paving Project**
Tuesday August 19, 2025 at 11:30 A.M. – Bid Opening

Gentlemen:

I have reviewed the bid which was received and opened in your office at the above date and time. The low and only bid of The Shelly Company appears to be responsive meeting all specifications. The bid tab is as follows.

		Amount	Method of Payment
The Shelly Company	Responsive Bid	\$ 1,099,855.75	Auto & Gas and Sales Tax

Therefore, I am recommending that your honorable board adopt a resolution awarding the bid to The Shelly Company, 1700 Fostoria Avenue, Suite 200, P.O. Box 3100, Findlay, Ohio 45840, in the amount of one million ninety-nine thousand eight hundred fifty-five dollars and seventy-five cents (\$1,099,855.75) and enter into a contract for the same.

In accordance with ORC 9.24, we have checked the Auditor of State's Unresolved Findings for Recovery Database and the federal system for awards management. The Shelly Company was not listed and we have retained the certified search confirmation page in the project file.

Respectfully submitted,



Scott C. Coleman, P.E., P.S.
Logan County Engineer

SCC/sj

Solicitation Information

Logan County Engineer's Office

Solicitation Number

2025 Logan County, OPWC Ohio Road Resurfacing

Deadline

08/19/2025 11:30 AM EDT

Advertised

07/29/2025 11:02 AM EDT

Description

Logan County Engineer's 2025 OWPC Funded Resurfacing Program. Bid Request is for resurfacing various county roads throughout Logan County.

Location(s)

Logan, Ohio

Bidders

Business Name	Address	Phone
Shelly Company - Northwest	1700 Fostoria Ave Findlay, OH 45840-6240	(419) 422-8854 x3401
1 Bidder		

Item	Quantity	Shelly Company - Northwest	
		Price	Extension
County Road 5			
10 Tack gal	993.00	\$3.00	\$2,979.00
20 404 LVT PG 58-28 ton	2,080.00	\$112.00	\$232,960.00
30 617 Berm, Type A ton	385.00	\$43.00	\$16,555.00
40 Mill Butt Joint ea	4.00	\$480.00	\$1,920.00
50 Rejuvenating Sealer sy	24,836.00	\$1.25	\$31,045.00
60 Pavement Marking Center Line Centerline Miles	3.56	\$1,400.00	\$4,984.00
County Road 39			
70 Tack gal	1,513.00	\$3.00	\$4,539.00
80 404 LVT PG 58-28 ton	3,167.00	\$109.00	\$345,203.00
90 617 Berm, Type A ton	608.00	\$36.00	\$21,888.00
100 Mill Butt Joint ea	12.00	\$480.00	\$5,760.00
110 Rejuvenating Sealer sy	37,813.00	\$1.25	\$47,266.25

Item	Quantity	Shelly Company - Northwest Price	Extension
120 Pavement Marking Centerline Centerline Miles	5.81	\$1,400.00	\$8,134.00
County Road 117			
130 Tack gal	1,268.00	\$3.00	\$3,804.00
140 404 LVT PG 58-28 ton	2,655.00	\$115.00	\$305,325.00
150 617 Berm, Type A ton	515.00	\$41.00	\$21,115.00

Shelly Company - Northwest			
Item	Quantity	Price	Extension
County Road 117			
160 Mill Butt Joint ea	8.00	\$480.00	\$3,840.00
170 Rejuvenating Sealer sy	31,690.00	\$1.25	\$39,612.50
180 Pavement Marking Centerline Miles	2.09	\$1,400.00	\$2,926.00
18 Items	Totals:		\$1,099,855.75

All Bids

Business

Shelly Company - Northwest

Opened at

2025-08-19 15:35:00 UTC

Status

Responsive

Bid Total

\$1,099,855.75